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There are 25 questions in all.
All questions are compulsory.

Questions no. 1 — 14 are short answer type questions carrying 2 marks

each. Answer to each question should not exceed 30 words.

Questions no. 15 — 21 are long answer type questions carrying 4 marks

each. Answer to each question should not exceed 80 words.

Questions no. 22 - 25 are very long answer type questions carrying
6 marks each. Answer to each question should not exceed 200 words.

Question no. 25 is to be answered on the basis of the passage given.

i s e gfg v guean &1 @i = R 2

Why is dependency ratio a source of economic growth and prosperity ?

UeH Ty % STIER 315y T o1 9 Y 7 2

According to Adam Smith, what is meant by ‘invisible hand’ ?
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TY-TT &1 BT 8 2
What is a Nation-State ?

A1 oh SAUHR ATUMTH b ST=d ANTHERT i FAT LR ez S & 2
What right does the Right to Information Act give to citizens ?

IgEHl # wi-fruer s forg w9 @ B0 § 2

In what way do rituals have secular dimensions ?

T FHT g TohT ST aTer &1 Hewqul i &1 & ?

What are the two important roles performed by the Gram Sabha ?

SATHT FEATROT € ETHT foh8 TR ST Y[ W S ST @ § HE g ?

How did benami transfers enable the landowners to keep control over
their land ?

gSdTel 3T dTeAT-se] o s I TT HI |

Distinguish between a strike and a lock-out.

grfaa & sl aiiia o a1 € AT Bl Ieorg IS |

Mention two features that define the organised sector.

AT JIYT & g0 HIF kT AR 4 Bidl & ?

How is work organised through scientific management ?

“FERTA T YAVSTHTRT 1 FIT 3 & ?

What is meant by ‘Globalisation of Culture’ ?
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How is mass media different from other means of communication ?

TR weg 1 31 G |

Give the meaning of the term ‘Infotainment’.

Hifg cArehas & Y&l (Ar=-81) o &9 H fohd JepR &1 L 8 2

How does media function as a watch-dog of democracy ?

SHHETTEIhIT kAUl o fHgi=d ol 9uid hIfT | HshHUT h1 THI SHEEIT foIEhie

o R I a1 8 ?

Describe the Theory of Demographic Transition. Why is the transition

period associated with population explosion ?

HHhS Al o TR TWR 319 STk Frl o A Wt 95d Age@q o |
e T |

AT

IUfaTrETe 3 AU SR o 3¢7 hl SqredT hifefu |

According to Alfred Gill, the market has significance much beyond its

economic functions. Explain.

OR

Explain Colonialism and emergence of new markets.
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In your opinion, has the linguistic reorganisation of states helped or

harmed India ? Give reasons.

e fomm § @ ufgerietor difedi & 9oy &1 %o § 2 4

Do you think westernisation is one of the reasons for generation conflict ?

yfeeht fgq <t sraamen Y IeTen afgd sumen S | 4

HAYAT

FT STEHAT Ueh S ¥ o J=TaH § &ehlae SToid! & 2 THETSY |

Explain the concept of competing interest with examples.

OR

Is inequality a hurdle in the working of a democratic country ? Explain.

TR H foraml il sfrcagcan o iy sron &1 9oia hifvie | 4

Describe the various reasons for farmers’ suicide in India.

T Ysed TeR-arey fava 3R ara &% fow e # 2 faa=mn i | 4

Are global interconnections new to the World and India ? Discuss.

T T § Wi SFael 3= Ud 3w ued v § Sigwd-E 8 R, Ak
=1 ot o 5o 3aar 7 | fewunft Shifsr | 6

HAAT

¥ @ femt S ==t fifve {5 sfa saeen od 2
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Caste system in the contemporary period has tended to become invisible
for the upper and upper middle classes but it is opposite in lower classes.

Comment.

OR

Discuss some of the rules that the caste system imposes.

ad | aArfeanfemt i amiees 3t anfdes grest i == HifSu | 39 '
I ST IS o T TR o gRT AT hed ISTT W 3 2

Discuss the social and economic problems of Adivasis in India. What
steps have been taken by the Government to uplift their status ?

qRA T 71 ATYTNG AT hl SARST IUYh ISR Aigd hiforg |

Explain with suitable examples the class based movements in India.

A= fou 7w e @I ufer R fefafad st % 3w T

afeed SmeH o T ufesmarg = fafvm et o Wil afadd i 3eeTd 6 | 3
giEde duTieh, WREhldeh AT dRgehall IAC &F H AW T | FE:
IUMERIATE 986 Ud e ®9 8 AT T IHEci sl 3T HarHl off | 50 9 F©
gftgdd ar rfifesd 9 & 9 Sefs s ghafaa affe @ @ e 9 | 99 T
B UTd & fop afvert fren wgfa &l YRa & 39 3299 @ @m0 o o 3uw v
1 Teh UHT 1 IR gl S fsifest sufiawreme s 991 wea 9 ggant g | A
70 I8 ot urd © Tob It ufvemht fren wgfa Ugardt <ra g utem-foridt =@
CAR IR e

(1) ‘SufravETe we | 9 FT g § 2
(F) 9Rd ¥ MufafEres & 0 fha JhR & teHens aiady foats 18 2
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Read the following passage and give the answer to the following

questions :

To facilitate the smooth functioning of its rule, colonialism introduced a
wide array of changes in every sphere, be it legal or cultural or
architectural. Colonialism was a story apart in the very scale and
intensity of the changes that it brought about. Some of these changes
were deliberate while some took place in an unintended fashion. For
example, we saw how western education was introduced to create Indians
who would manage British colonialism. Instead it led to the growth of a

nationalist and anti-colonial consciousness.
(a)  What do you understand by the term ‘Colonialism’ ?

(b)  What structural changes were seen in India during the Colonial

period ?

7 11,600



